



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(\frac{1}{6}\right) + \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{1}{6}\right) =$$



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{81}{5} = 16\frac{1}{5}$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{4} = \frac{9}{4} = 2\frac{1}{4}$$

$$\left(\frac{1}{6}\right) + \frac{2}{5} = \frac{17}{30}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{1}{2} = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{127}{36} = 3\frac{19}{36}$$

$$\left(\frac{3}{4}\right)^{(-2)} + \frac{2}{5} = \frac{98}{45} = 2\frac{8}{45}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{19}{25}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{6} = \left(-\frac{13}{6}\right) = \left(-2\frac{1}{6}\right)$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) = \left(-\frac{31}{10}\right) = \left(-3\frac{1}{10}\right)$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{2}{5} = \frac{27}{5} = 5\frac{2}{5}$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{7}{6}\right) = \left(-1\frac{1}{6}\right)$$

$$\left(\frac{1}{5}\right)^2 + \frac{3}{4} = \frac{79}{100}$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) = \frac{1}{16}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{2}{5} = \frac{22}{5} = 4\frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{97}{6} = 16\frac{1}{6}$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{3} = \left(-\frac{5}{3}\right) = \left(-1\frac{2}{3}\right)$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{4} = \frac{17}{4} = 4\frac{1}{4}$$

$$\left(\frac{1}{4}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$